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EM: TAASD
Hu: ABA FHSNEA
Sl BEFY ol (FHAY SHE) CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 3,840 3,132 708
05 RIZHRI & 3 3,840 3,132 708
OBt Y LUOIE A& 22l
170,000& * 122 2,040
OEI®I L dUotmE JtE IXAN &2 A
22l dl 150,000 * 12E 1,800
ZQFEES 22 9,960 9,000 960
201 Let249] 5,760 5,760 0
01 At 22l 5,760 5,760 0
Osllfgse g8=8 1,200 * 200l CH 240
OYgsadx==2 3,000& = 40AICH 120
OBAF=E Al==2 2,000,000& =« 1AllCH 2,000
Osltz X288 =8
200,000& =« 1Al CH 200
Osltz MALR & FHEHLEH
270,000 = 10AllCH 2,700
Osltz 2l dat&Ed |2l 500
202 oddl 4,200 3,240 960
01 SLHOIYI 4,200 3,240 960
Okt 7as =¥ 800
Osktz 4&ZR &2 1,000
O8i=s HMEXN E8=dH 2,400
ANIAH=8 =253 gt 1,083,725 1,084,435 AT710
802 Btet= DI Et 1,083,725 1,084,435 AT710
03 Ugd=s 1,083,725 1,084,435 AT710
O=SdE1X NEOE dFESS e
2,169,390& = 18AlICH 39,050
OELSH2X AGOIE LFESS BHE
19,600,000 = 10MICH 196,000
O B LUOIE dFES3 & 848,675
o39A(HEE) 10, 154,000& = 3MICH 30,462
©3B(EE) 10, 154,000& * 1AICH 10,154
o 49A(H &) 20,000,000& * 5AllCH 100,000
o 49A-1(& &) 20,000,000& =« 1Al CH 20,000
©49B(H &) 20,000,000& * 3AllCH 60,000
©49C(H &) 20,000,000& = 1Al CH 20,000
©49C-1(& &) 20,000,000& =« 1AlICH 20,000
o 49D(H &) 20,000,000& = 1Al CH 20,000
o59B(HF) 23,500,000& =« 1AlICH 23,500
o59B(X &) 35,000,000& * 1AICH 35,000
o5(HEE) 22,488,000 = 1AlICH 22,488
©590(X &) 34,000,000& * 5AICH 170,000




EM: TAASD
M AP FHSHEN
o9l DEFE ol (FUAMY SE5) (B9 ®R)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ObE(HEF) 22,515,000& = 1Al CH 22,515
o 59E(H &) 34,000,000 * 3AICH 102,000
ObF(HEF) 22,556,000& = 1AlICH 22,556
o 59F (& &) 34,000,000 * 5AICH 170,000
SSTEYH FHOH JIBXZH(FEHAY SEslH) 2,148,024 1,836,935 311,089
ANZAU=E AIE2 FHI 100,720 151,080 A 50,360
401 AIEBIZ 201 8I 100,720 151,080 A 50,360
01 A& HI 100,000 150,000 A 50,000
OANZUU=C AIE&= FHHI
33,333,300& * 304 EHX 100,000
03 A& =2 THHI 720 1,080 A 360
ONZUUFe AESHH 20l
100,000,000& * 0.72/100 720
ol Bl gl 2,047,304 1,685,855 361,449
801 Gl BIbI 2,047,304 1,685,855 361,449
1 2eroldltl 2,047,304 1,685,855 361,449
Ouuldl bl 2,047,304
HYRIZH (SAASD) 62,649 52,480 10, 169
ClAR A (FHAIY SEH3IA) 62,649 52,480 10, 169
ol 2| 62,649 52,480 10,169
101 14l 62,649 52,480 10,169
03 RIAHAAZ 2R 62,649 52,480 10,169
OANZd=aze 22X BE(1Y) 32,568
oJllEz=(1623) 1,393,040 * 12& 16,717
SRS = 1,393,040& * 400% 5,573
cs4Rsy 50,0002 * 12 600
oMAT ALY 160,000& * 122 1,920
cfE+g 40,000& » 128 480
o ZUZ A 120,000 * 12& 1,440
= JHH 2 X4l 110,000& * 12E 1,320
o ZE FOHI 1,393,040 * 110% 1,533
oAzt 2 28
16,2203 » 10AI2F = 128 1,947
cHIIRSFIIH=E 86,4963 » 12¢ 1,038
O=30=¢ g3 &2l 222N B(1Y) 30,081
ocJllEs(14ssE) 1,359,000& * 12E€ 16,308
SRR 1,359,000 * 400% 5,436
oMATAHSH 160,000& * 122 1,920
o Z A GAH| 120,000 * 12& 1,440
ol 100,000&  12& 1,200
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